#include <iostream>

#include <fstream> c=n;ogl=0;
using namespace std; while (c!=0)
int main () {
1 ogl=ogl*10+ (c%10) ;
long n,c,ogl; e . =c/10;
int s,p,nr,cmax,cmin; P_J_" «=n; nr=0;c=n; c=Cs LUy
ifstream f£("numere.in"); while (c!=0) while(c!=0) h
ofstream g("pumeres.ocut™);: ||{ { g<<ogl<<endl;
£>>n; p=p* (c%10) ; nr++: c=n;cmax=0;
s5=0;c=n; c=c,/10; — s while (c!=0
while (c!=0) c=c/10; [ :
i { } } { numere.out X
s=s+ (c310) ; g<<p<<endl; g<<nr<<endl; if(c%l0>cmax) 1 32
c=c/10; p=1l;c=n; nr=0:c=n; cmax=c%$10; 2 12
. ! while (c!=0) while (c!=0) c=c/10; i 3:40
g<<s<<endl; { { } - 22
s=0;c=n; . ——
: ’ if(cxi==0 : —— <<cmax<<endl; & 245
while (c!=0) [ . : R if(es2==0) | 9% o 7 7
g : p=p* (c%1l0) ; nr++; c=n;cmin=10; s 3
if (c3:2==0) c=c/10; c=c/10; while (c!=0) . .
s=s5+(c%10); } } { 12 ;732512
c=c/10; g<<p<<endl; g<<nr<<endl; if [c%ll;l«icmin]l 2 N
<<s5<<endl; . — — 10 =
g=ﬂ;c=n; while (c1=0) while (c!=0) c=c/10;
while (c!=0) { { ' :
i { if(c%2==1) if(c32==1) || g<<cmin<<endl;
if (c32==1) p=p* (c%10) ; nr++: f.close () <[l b
5=s5+(c%10) ; c=c/10; c=c/10; g.close () ; [m]—
c=c/10; . :
. ; } } return 0; 1 | 2152877
g<<s<<endl; g<<p<<endl; g<<nr<<endl; 2




